H0-0001/0007
THX4y - L - fliil - S - A A & %8 bl a1l
K T2
i O B = 6, 064, 421
EELET Y 1,524, 470
PEH T = 345, 600
E7HEll 1 2y
P 320 m3
+wp EFEUIA G
N S 1 = 173, 950
PR (FEE2) Akt 1 F2
AR (FE82) k1 30 m3
2. bmAiti
AR (FE82) k1 20 m3
4. omPL
T 20 m3
VEEX >8I L (v-17)
R LT 1 Y 307, 720
PR+ Y
RS 1 50 m3
RS 1 20 m3
R 30 m3
(== Y 455, 360
R =




THXSy - TAE - il

#

il

H 7

H0-0002/0007

P ALER T

3 1 I
HEREL

155, 100

LRI T

86, 740

HEEEIE (91 1#0)

Y

1) et
RS A i)

30

m2

=

B T

EHEY

Sy PITTHERE T (R BT

e 10 (I A [ A0 L)
1,552, 002

160

m2

1,552, 002

N RE

BT 1 R

K-102 -
) A e

69

HEKIEEY T

)Pk

R T

R EL OmE B 2.2, OmAliE Colif—>18-8-
1, 848, 089

18

m3

728, 308

7 VR A NUBRRI

7" VR ANURMARE [R5 R ]
PU235-C




THXSy - TAE - il

il

FEEEL N R E
£ H

A
H 7

A
a7 JU—}

H0-0003/0007
MER - BRAAETE Y
BIRT

0.2

m3
7" VA ANURLK S [UFARNE (b77) ]
PUS224

A=

0.5
yrv=F) Ak k]
292, 996

1 =
& & VMEE (300 T-25)

10

&
ta-bE (BIEE)

1 =
t o —AE (BEE)
PEfT ¢ 300mm CRSZ->HE L)
RE IR PEKE
=Y i

20
1 2y
25 EIRT
VU ¢ 150
I IR K
PEAsr
1 = 382, 931

68
BIGHT B
ST /KIS T

IRGE V¥

1
600 X 600 X 783
2 5 /Kt
1 =

1
1400 X 1400 X 1810
374,071

1
BT KIE

1
BT8Ry ) = NUBRAR v
NU400%!

=
WERR KIS ) =T

16




THXSy - THE - il

#

il

A

(A

H0-0004/0007

PR T

B
I

69, 783

B
3|

HEPEAK

LK T

RS T
ISR L T

1, 139, 860

2 5 EPEK T

452, 587

vy~ MEEE EE L

iEwmEn b LT
MR AETEY)

52 m3

HEY LD Z oL L
BRI

AR ) e

SR T (207 = M2 RO

CoblitEhE—>15emPL T
T R R

PRt EYE T

9, 842

TR AN (227 = MR )

300 m2

I S P KB 25

s IR PR

e

74




H5 Y

ARE

H0-0005/0007

THX4y - LA - flijl B B | B O 4 %A A a1l N B
T LR T = 677, 431
WO 1 F2
T A 52 m3
/) -b (R AEEM LV Z b L
¢ 1 1A 0.7 m3
/) )-b (B AEEM E D Z b L
TR 30 m3
BT R A
ALY 1 F2
Loy Ee 1 F2V
29— bk (JE)
Loy Ee 1 =
vy ) - bk (BkH5)
R Y 3, 810, 869
HTET Y 1, 818, 404
AL (i T Y 35, 532
N 1 =
Nz 329 m2
A B> e L
TAT 7 M T T = 1,782, 872
T8 B (BE - B E D) 1 =
T B (BE - D) 553 m2
2 EFEYVE->100mm ST
b JE g (HE - B R ) 1 F2
553 m2




H0-0006/0007

THEX Sy

- Lff - Al

il

fxa L

938, 540

fxa L

938, 540

T AN =T

61, 926

61, 9256

E@ﬁ%ﬁ

% T

992, 000

AR EEE T

992, 000

pall N i)
1 =
553 m2
1 =
120 m
1 =
50 m
1 =
170 m
25 m
1 =

9, 875, 000

1, 409, 000




;[g/v/v W nR % E0-0007/0007

THXSy -« TAE - FR1 BHo& | B {7 & #H M 2 i

AR =5y 1, 409, 000
il L F A 11, 284, 000
1 LAY 3,977, 000
T Ul 15, 261, 000
i B 3, 187, 000
s Gt 18, 448, 000

GBI BT 675,000 | XHUGEHE KO —REHE ST TN DEERNELSHITRL TS,




